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(b)

-Briefly

(2)

explain Orientalist-Anglicist
controversy over British education
policy in India.
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Explain the concept of Drain of Wealth
from India to England.

WRA A $¥e F -t uron #t s 51

Explain the salient features of the
Constitution of India.

YRelg w@fum # g fvarstt & aofy w5

Mercantilism was  the policy of
establishment of powerful State.
Examine the statement.
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Explain Blood and Iron policy of
Bismark in the unification of Germany.
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Write a brief note on New Imperialism.

9 HHTSIER W G Gfiw ot R

Throw light on causes and
consequences of Cold War.
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( Continued )

2. (q)

(b)

3. (a)

(b)
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(3)

Describe critically the reforms of
Cormmwallis. How did it affect Indian
society?
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To what extent did Lord Hastings
contribute to the establishment of
British paramountcey in India?

50 = 7 @i 3w I i F iy aggar
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Analyse the British education policy in
India“ in the light of the following
statement : o

“To create a class of who would be .

Indian in blood and colour and English
in taste, in opinions, in morals and in
intellect.”
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How do you account for the causes dm

the decline of Indian industries in the
first-half of the 19th century?
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(6)

9. (a) Analyse the role of Japan in the
international issues between two World
Wars. 20
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(b) What were the causes and
: consequences of Second World War?
Discuss. 20
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10. (a) Zobrgmsﬂ_& Movement is the reflection
of the aspiration of Third World during
Cold War era. Analyse. : 20
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(b) What were the reasons for
disintegration of Soviet Union? 20
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